
Please contact your local authorized Shanklin® Parts Distributor for pricing and availability or  
contact our Shanklin® parts department at 866-997-7273 

 
 
 

 

Omni Single Belt Infeed 
Shanklin® Equipment 
Shanklin®  is known worldwide for superior quality shrink packaging equipment. 
 

Building on our heritage of quality and innovation, we are once again redefining our product range and 
introducing OEM spare parts kits for our current range of equipment. 
 

Having the parts you need when you need them reduces downtime, allows you to centrally locate spare 
parts for your Shanklin® model and simplifies your operation, as only one purchase order is required.  

Spare Parts Kit  # MK0011 

Reduce downtime 

Shanklin® OEM Craftsmanship 

Only one purchase order 
Spare parts centrally located 

20% OFF List  

Spare Parts KitDistributed by: 

Omni 

® Reg. U.S. Pat. Off. © Sealed Air Corporation 2008.  All Rights Reserved.  Printed in the USA.  
The “9 Dot Logo” and “Sealed Air” are registered trademarks of Sealed Air Corporation (US).  

BA-0072  BEARING, FLANGE 3/4" ID X 1-1/2" LG (2 ea) 
BA-0073  BEARING, FLANGE 1/2" ID X 1" LG (2 ea) 
BA-0083  BEARING, BRONZE 5/8" ID X 3/8" LG (2 ea) 
BA-0085  WASHER, OILITE THRUST 1/2" (2 ea) 
BA-0109  BEARING, FLANGE 5/8" ID X 3/4" LG (2 ea) 
BA-0150  BEARING, SLEEVE .625 OD X .500 ID .500 LG (4 ea) 
BC-0009  BEARING, BALL 5/8" B (2 ea) 
BC-0038  BUSHING, BALL 1" B (2 ea) 
BC-0047  BEARING, 3/4" X 1-5/8" (2 ea) 
BC-0053  BEARING, 1/4" X 3/4" (4 ea) 
BC-0055  BEARING, 1/2" X 1.375" (2 ea) 
BD-0100  BELT, TIMING 1/4"W X 104T (1 ea) 
BD-0206  8008M20 GT TIMING BELT (1 ea) 
EB-0054  SWITCH, LIMIT (1 ea) 
EB-0225  KEY, STRAIGHT (1 ea) 
EJ-0042  CONTROL, MOTOR (1 ea) 
EP-0012  SENSOR, PROXIMITY (1 ea) 
MA-0038  STUD & COLLAR, TENSIONER (1 ea) 
MA-0422  BEARING, ROLL END NOLU S (2 ea) 
N05-1603-001  PULLEY, TENSIONER - A26 (1 ea) 
N06-0616-001  BUSHING, WEAR (4 ea) 
RU-0098  O-RING (4 ea) 
SA-0014  SPRING, EXTENSION, 3/8" X 1-1/2" LG (2 ea) 
SA-0046  SPRING, EXTENSION, 3/8" X 4" LG (2 ea) 
SA-0049  SPRING, EXTENSION, 1/4" X 1-3/4" LG (2 ea) 
SA-0069  SPRING, 1-1/4" LG (2 ea) 
SA-0073  SPRING, COMPRESSION 1" LG (2 ea) 
SPA-0505-001  COUNTER, METRIC-SS (1 ea) 

BA-0015  BEARING, BRONZE 1/2" ID X 5/8" LG (2 ea) 
BA-0009  BEARING, BRONZE 1/2" ID X 1/2" LG (4 ea) 


